7.11.2017. god.Ime i prezime: Razred:1.E / \

1. (4 boda) Faktoriziraj:
a) 4x*-16x

b) 1ab2 +la2b—1a2b2
3 6 9

c) 20y-10+_2ay® —ay

2. (10 bodova) Koristedi formuleizracunaji napisi nazivformule koju si koristila/o:

a) (a-5°=

b) (4a+3b)° =

o (a-2)y°=
d) 4x*-9y’=
e) 8x°-27y°=

3. (4 bodova) Skratirazlomke:

x2 _ 2
a) 5 y _
X =Xy
2 2
b) 3x° =27y

x* —6xy +9y? -



4. (6bodova)Pojednostavni:

a) (a-5)*—-(a-5)(a+5)

b) 3x* -2 8x+13
8x 12
2
(x-2)
X+y
C) 2 2 -
X -y
2 2
X“+2Xy+Yy
bodovi  ocjena
0,0-10,0 1
10,5-135 2
14,0-175 3
17,5-205 4
21,0-240 5




7.11.2017. god. Imei prezime: Razred:1.E B

1. (4 boda) Faktoriziraj:

a) 4y*-12y
1 2 1 2 1 2,2
b) =Xy +—=-X"y——=X
) 3 y 6 y 9 y

c) 30b—10+3xb? —xb

2. (10 bodova) Koristedi formuleizracunaji napisi nazivformule koju si koristila/o:

a) (5+x)°=
b) (4x-3y)* =
o (a+2)°%=
d) 9a’-4b%*=

e) 27a°+8p°=

3. (4 bodova) Skratirazlomke:

a’—ab
Y
b) 3a? -27b*

a’ —6ab +9b?



4. (6bodova)Pojednostavni:

¢ (a-5)°-(a-5)(a+5)=

d) 3x—2_4x+9=
12 8
Xz_yz

2 4 ovy 4 u2

e) X +2xy4gy _

(x-2)
X+Yy

bodovi  ocjena

0,0-10,0

10,5-135
14,0-17,5
17,5-20,5
21,0-24,0

1

upbh wWN




